Complete the first quadrant portion of the unit circle below.
Inside the circle, label the radian measure of each point,

SCORE: /8 PTS
(2 POINTS OFF

Outside the circle, label the corresponding x — and y — coordinates of each point. FOR EACH ERROR)
(o, 1)
Suppose sint = —% . Fill in the blanks below. Simplify all answers. SCORE: /13 PTS
[a] The reference angle for ¢ is [ radians.
[b] ¢ could be in quadrant(s) ?7 4 . -lj <O
[c] The possible value(s)of ¢ is (are) o, EE . [NOTE: Your answer(s) must be between 0 and 27 |
7 T
— 3_). - )
=27 SCORE: /11 PTS

Let § = —2Z Fill in the blanks below. Simplify all answers.

fa]
[b]
[c]

d}

@ is coterminal with

e

=2

| _Bl _
cotd = 2
257
csed =" e

radians.

radians, NOTE: Your answer must be positive|




Prove the identity (2 +csct)(2 —csct) =3 ~cot?s.

SCORE: f10 PTS
=4 - csc>C
= 4 - Ch+ coy 2‘E>
2
- ot

Let { be an acute angle such that csct = % . Fill in the blanks below. Simplify all answers. SCORE: /8 PTS
[a] Draw a corresponding right angle triangle, and label the lengths of all sides.

3200 B Y. 34
{b] tans = =0 , QJ;_(_-;? J,T; ) 3

t 2l
fc] Ccost = ~ 5 \(I—C—)'
Let & be an angle such that cos@ = —1 and sinf = ﬂ . Fill in the blanks below. Simplify all answers. SCORE: /12 PTS
P fg_,) ‘,LC’ y
[a] tan = - R Lfﬂ"ff—"*ﬁ__
g T L
[b] secd=__ — 77 _ A -~ -;%
-2
| 2 “
[c] cos(-8)= — 4 I e -
B

[d] cse(£—0) = 1 LT See O
Suppose sect = % and sinf < 0. Fill in the blanks below. Simplify all answers. SCORE: /10 PTS

[a] t is in quadrant Z‘"

><>O)B<O

[b] Find the value of fant using identities, not triangles. NOTE: You must show the proper use of identities to get full credit,

| + Yoot = ~C
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/6 PTS

Fill in the blanks, : SCORE:
‘ 27T
[a] An angle of 198—”— radians has a reference angle of - radians. 3 5T
3
Ib] sec(-17.3)=47.0852 b . IRound your answer to 4 decimal places| S
A ramp descends from a raised platform to the ground 7 feet below. If the angle of depression of the ramp is [1°, SCORE: /10 PTS
how long is the ramp ? [Show proper work, State the units of your final answer. Round your answer to 2 decimal places|
1
St =
~
= = 36.69 FPeer
Sim
F12PTS

SCORE:

Al baked a pizza using a rotating pizza oven, and took a sector of it to work

[a]

IShow proper work. State the units of your final answer. Round your answer to 2 decimal places)

=30
g =< (24

=140

= [.&R jucpes

The pizza oven made one revolutlon every 11 seconds. Find the linear and angular speeds of the edge of the pxzza
[2AD) P

[Show proper work. State the units of your final answer. Round your answers to 2 decimal places)
27T RAD) AN S

The sector had an area 168 squére inches, and was intercepted by a central angle of 2.4 radians. What was the radius of the pizza ?

[b]
ANGULAL SPEED = 1o = | RevolwsTon
| | sezowDs I RevoLuTiod

Ivepr. speen= V= o= HL. B wawes . @_57 12 ADiAIS
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